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Chapter 8 Test Review

For Exercises 1-4, fill in the blank. H
inconsistent
1. A system of equations that has no solutions is called a(n) system.
2. A system of equations that has infinitely many solutions is called a(n) d ent system.
3. The boundary of the graph of a “greater than” or “less than” inequality is drawn as

a(n) a$hl line.

The boundary of the graph of an inequality that includes an equal sign is drawn as

a(n) _Q_Dléd_ line.

On the graph of an inequality, explain how you can decide which side of

a boundary to shade. Clygpse any pt not on bw\alarq Une . IF & creates a true Statement,

This graph was made to compare the costs of renting copy machines Shade the Onea +he pt. Lees 1n-
from Company A and Company B. What information does the point of T ‘F t+d
intersection of the two lines give? { oes not-sah s the

Copy Machine Rental Cost M(ﬁw hﬂ, then shade the
otheon anea .
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For Exercises 7-10, solve the system of equations. Identify any system
that is either inconsistent or dependent.
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9.—=2x 43y =712 Se Lk 1
2x+Ty= 8 3x— 5=¢6y
WU = )(:25 +g
Y= 8(2418) 5 =0y
ax-3(2)=12 wyr45=44
(5 o

AxHe = (0 Inconsistent
(no sfutron)
_nosmunen:

11. You are the owner of a shop that designs and sells T-shirts. You can buy

plain shirts from a local retailer and pay 8.25% sales tax. Another option

is to order shirts at the same price from an online wholesaler in another

state, who is not required to collect sales tax. But the wholesaler charges

a processing fee of $13 per order, plus 5% of the price of the shirts for

shipping and handling, (

a. Write a system of equations that describes your options. Represent c e, Dgzg
the value of the shirts purchased by p, and the additional costs for L r
each order by C. (\4 =, 09P +1 3

b. Solve the system using a graph or table. Check your answer with an \

\adna\ ol

algebraic method. ) c=
. What does the solution mean in this context? |4~ will Cost %33 1 meso oo T-sharks.
. Ifyou plan to order $300 worth of materials, which option is cheaper? ‘ﬂ/\e r&m Ler”

e. [f you plan to order $500 worth of materials, which option is cheaper? Th ¢ whele W
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12. One store charges $1.60 for a photo print order, plus $0.10 per print.
Another charges $1.20, plus $0.15 per print. For how many prints is the
total cost the same?

C=.1op+ 160 1Dp 1.0 = (6P +1.20

4o=5p

The total cost wold be g=p
tihe camefir 8 prints.
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13. A florist has 600 daisies and 450 irises with which to create some

tloral arrangements. She has decided on two basic combinations: the

bargain assortment will contain 8 daisies and 3 irises, while the deluxe

assortment will contain 4 daisies and 6 irises.

a. She wants to use all of the available tlowers. Write a system of
equations that will allow her to determine how many bargain & and
deluxe d assortments to make.

b. How many of each type of arrangement will use all of the available
flowers?

— (00 2 +d)=(190)r 12 -ud =900
gv\ziﬁj"b —ﬂ%’rwl =160 3o flod = Hov

BD M s “qp=-19D
e
b=9D
| 9 Deluve W\JLWWM\T 1=6D
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15. Draw a graph of the solution set for the following system of inequalities:

16.

y=x+3
x+y=4

Y
5

A loaf of rye bread requir and% cup of sugar. A loaf of

pum - gad requiggS 2+ cups of tlou am_'}.lgar, You
hav 40 cups of floutyind T mes-—t " \
a. Wrkea system of ineqummO'dels the numbers of loaves of

rye r and pumpernickel p that could be baked.
b. Graph the system of inequalities. 3
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